
Assessment : Section A Checkpoint

Problem 1

Statement

Label the 3 points on the number line.

Solution

Problem 2

Statement

Locate and label 34 and 43 on the number line.

Solution

34 is one tick mark left of 35 and 43 is 3 tick marks right of 40.

Goals Assessed

• Represent whole numbers within 100 as lengths from 0 on a number line.

Goals Assessed

• Represent whole numbers within 100 as lengths from 0 on a number line.
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Problem 3

Statement

What number could the point represent? Explain or show your reasoning.

Solution

20 to 30. Sample response: In the middle of the number line is 40 and this is definitely less than that.

Goals Assessed

• Understand the structure of the number line.
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